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AN ERGERAESFRBETEERR
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I8 H fc = At Bt Ext F4t Gt
ERABEERICEYT 2ER| 35 25.7 28.1 21.7 22.7 21.6
NEEXEEICET2EE| 25 23.0 18.0 17.6 13.0 17.8
RESE| 10 4.0 2.0 2.0 2.0 2.0
BET R 70 52.7 48.1 41.3 37.7 41.4
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(2 RBES LUOBRKER)
I8 H fc = At Bt
MRAEERISICET 51EE 30 21.7 24.8
—REEHER| 70 52.7 48.1
&5 100 74.4 712.9
BRI 1 2
ZEmE| O
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(1 RERE)
15 H i = D+t
MRAEEERICEYT IEE 35 22.9
NEEXEEICET2EEB| 25 19.0
RiEE®E| 10 2.0
Hitm| 70 43.9
IEGL| 1
1REBEHZEREEE| O
(2REES L URKIER)
IHH it = D+t
BRIABEERICEY2EE| 30 20.9
—REEFHER| 70 43.9
&5t 100 64.8
IEGL| 1
ZEmE| O
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(1 REE)

IHH fc = Ctt Ett Ft Gft
ERFAEEXFICET 2EH 35 26.2 21.2 23.0 21.6
IGEEEEICEET 51EE 25 18.6 17.6 13.0 17.8
RESE 10 2.0 2.0 2.0 2.0
BETR 70 46.8 40.8 38.0 41.4
NEfiz 1 3 4 2
1 REHZBBEEE| O
(2 RBES LUBRKER)
I5H At = Ctt
TERAEEERICEYT 51EE 30 22.4
—REEER 70 46.8
&5 100 69.2
IEGz| 1
ZinirwE| O
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(1 XEE)
== it = Bt Ctt Ett Ft Gt
RRIAEERFICET 2IEH 35 28.1 21.7 20.6 22.17 21.4
INEEEEICET 51EH 25 18.0 18.6 17.6 13.0 17.8
Ri5&%E 10 2.0 4.0 8.0 6.0 4.0
ARt R 70 48.1 50.3 46.2 41.7 43.2
IEfiz 2 1 3 5 4
1REEEBEFRE| O O O O
(2 RBES LURKIER)
IHH At = Bt Ctt Ett Gft
MRAEERISICET 51EE 30 24.7 22.5 17.6 18.6
—REEHER 70 48.1 50.3 46.2 43.2
&5 100 712.8 72.8 63.8 61.8
IEGz| 1 2 3 4
ZniRwE| O
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